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31 » 173 20 22 25 27 301332 35 37 40 42 45 47 50 52 55 m
6 5 45 38 35 3 3 2826524 225205195 18 17 16 t

31 » 0 2 25 27 30 32351387 40 42 45 47 50 m
6 54 46 42 37 34 3 3 29 27 2523522 t
31 > 0 2 25 27 30 32 35387 40 42 45 m
6 54 46 42 37 34 3 3 29 27 25t
31 » 204 2 25 27 30 32 352389 40 m )
6 54 46 42 37 34 3 3 29 R
31 > 20122 25 27 30 32 35 6
6 54 46 42 37 34 3 3 - 04t
31 - 202 22 25 27 30 m ]
6 54 46 42 37t - (m)
— =04t
31 » 202 22 25m
6 54 465t
24 » 175 20 22 25 27 30 312317 35 37 40 42 45 47 50 52 55 m
6 51 46 39 36 32 3 3 265245225 21 1,9 1.8 165155 145 t
24 » 204 22 25 27 30 32 35 364 37 40 42 45 47 50 m
6 55 47 43 38 35 32 3 3 275255235 22 205 t
24 » 204 22 25 27 30 32 35 364 37 40 42 45 m
6 55 47 43 38 35 32 3 3 275255235t
(1) -
24 » 206 22 25 27 30 32 35 367373 40 m g
6 55 48 44 38 36 32 3 3 2751 9
24 » 206 22 25 27 30 32 35m 4 -0,06t
6 56 48 44 39 36 32 t \~——:£/
24 » 206 22 25 27 30 m —— =T -0,06t i
6 56 48 44 38t ’
24 » 206 22 25 m
6 56 48 t

1100 kg - 3 600 kg

—— ==

55 m 16,7 m 12700
50 m 142m 12 700
45m 142m 11600
40m 142m 10 500
35m 142m 9400
30m 142m 9400
25m 142m 8300

H(m) | 408 30,8 20,8 10,8
M ()] 70 65 60 55

H(m) | 493 46 4 31 21 1
i (1) 80 75 60 45 45 45

H (m) 49 45,6 40,6 35,6 30,6 25,6 20,6 15,6
M (1) 84 72 54 42 42 42 36 36

Hm) | 556 506 456 406 356 306 256 206 156
() 114 % 72 54 42 42 42 36 36
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mmin 32— 86 — 30 —40 — 52 — 70 16 -43 =15 =20 —» 26 = 35 25 18 260 m
t 3 3 3 225 15 0,75 6 6 6 45 3 1,5
mmin 3 = 12 =36 —48 — 68 — 92 15=6 =18 =24 = 34 — 46
! 30 22 260
t 3 3 3 225 15 0,75 6 6 6 45 3 1,5 m
m/min 0—79 6,5 48
tr/min
U/min 0—-08 2x55 2x4
rpm
m/min 25 2x4 2x29
m/min 12,5-25 2x7 2x5.2
m/min 12,5-25 2x7 2x52
m/min 15-30 4x5 4x3,7
25 LVF : 40 KVA
400 V (+6% -10%) 50 Hz 33 LVE - 50 VA
25LVF 15 mimn 33LVF 15 m/rgg + 259
Optima 4 Optima &
+ 259 Vo 4
70 2% o 68 o
52
30 36
0,75 1,5 3t 0,75 15 3t
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